

# MEMORANDUM

"...meeting community needs...enhancing quality of life."

TO: Community and Economic Development Committee (CEDC)

FROM: Matt Rehbein, Economic Development Specialist

DATE: March 8, 2023

RE: Business/Industrial Park Land Sale and Option Prices

Staff completes an annual review of the selling price of land in the City's business/industrial parks to see how competitive Appleton is with surrounding communities. Currently, the selling price of land in the City of Appleton's Southpoint Commerce Park is \$40,000.00/acre. The City has no remaining parcels for sale in the Northeast Business Park (NEBP).

There are currently 3 lots that are privately held and not developed in the Northeast Business Park subject to the City's right to repurchase. Privately owned, undeveloped lots are flagged in the City's AS400 system, and notification is given on the real estate inquiry form to ensure the City's right to repurchase is triggered as appropriate.

In the Southpoint Commerce Park, there are 21 fully improved lots available, of which 5 are under contract with F Street Development. The total inventory not under contract is approximately 51 acres. In 2022, 3.25 acres were sold to Farrell Investments and 2.16 acres were sold to Romenesko Developments (details in attached Industrial Land Sales Comparison – Exhibit A). Construction of a 250,000 square foot distribution warehouse was started by F Street in 2022, and Farrell Investments is expanding their existing facility. The City has an additional approximately 100 acres in Southpoint that are undeveloped that will yield approximately 80 developable acres. All available lots in the Southpoint Commerce Park are served by regional stormwater detention, and a wetland delineation was completed in 2020. See attached map for the available lots in Southpoint.

In order to ascertain how competitive Appleton is with neighboring communities, staff prepared an Industrial Land Asking Price Comparison (Exhibit B). Data was gathered from: direct contact with sellers, CoStar (which is a commercial real estate listing and comparable data service), and the Wisconsin Department of Revenue. There are additional lots marketed as available for industrial in the Fox Cities, but many of those could also be commercial which commands a much higher price and are not good comparables. All referenced industrial lots are broken down into one of three categories:

- 1) Municipally owned lots available for sale.
- 2) Privately owned lots available for sale.
- 3) Recent sales comparison.

In determining the sale price of lots, staff considers several factors, including the City's investment in creating the business park, cost to develop at these locations, competitive lot pricing, and uses of the property. It should also be noted that land pricing is but one component of actual "cost" when a business is considering a purchase in a business/industrial park. Infrastructure, access, availability of TIF financing and other incentives are all factored in.

Site selectors and businesses seeking new locations have shared with staff that the ability to respond quickly and creatively is crucial to landing deals. This has proved true for all recent transactions. Each company is going to have different priorities, beyond land price alone, such as infrastructure, approval process, timing, TIF contributions, etc. Effective January 1, 2023, TIF #6 is no longer on the tax roll. Staff is in the process of finalizing documentation for the closure of TIF #6 with the State of Wisconsin. This further increases the importance for the City to be in a position to act quickly and decisively when transactions come forward to ensure we secure sales in the business/industrial parks. We have been successful in doing this with all sale transactions over the past few years. In 2023, we still need to be responsive, but with a tightening market, we may not need to be as generous on financial incentives.

The industrial market for lease and purchase space has been tightening up over the past few years, creating a scarcity of large and small industrial space. As a result, we have seen increased activity in the Southpoint Commerce Park (both contracts and inquiries). This has generated greater interest in "speculative" building and, in turn, more inquiries about optioning land. In 2020, Council approved an option fee of 2% of the purchase price per year for parcels in excess of 5 acres. The option fee for lots less than 5 acres remains at 1% of the purchase price per year. This helps protect the City's inventory of marketable parcels while preserving the smaller users' ability to ensure they have control of their expansion space.

Additionally, when a real estate broker has been involved in the sale of a parcel in Southpoint, the City has historically paid a commission of eight percent (8%) of the sale price to procuring broker. This is the market rate for commissions on land sales and helps attract/retain the assistance of real estate brokers.

Based on this analysis, staff would recommend the City increase its current selling price to \$43,000 for business/industrial park land and option fees as outlined below. This puts Appleton in the middle range with regard to land prices.

### **Staff Recommendation:**

The City of Appleton increase selling prices for business/industrial park land as follows:

#### Southpoint Commerce Park

All lots - \$43,000/Acre

The City of Appleton hold option fees to reflect 1% of the purchase price annually for lots of 5 or less acres and 2% of the purchase price annually for lots greater than 5 acres. The City continue to pay a commission of eight percent (8%) of the sale price when licensed broker is procuring cause for a transaction.

Note: Land prices are for fully improved lots and include the cost of concrete pavement.

EXHIBIT A

2010-2022 INDUSTRIAL LAND SALES COMPARISON (Municipal & Private Sales)

Location	Sale Price	Size (In Acres)	Price/Acre	Sale Date	
E Glendale (NEBP)	\$235,000	7.92	\$29,672	Nov-22	Partially usable (Wetlands)
Consolidated Ct., Grand Chute	\$525,000	5.35	\$98,131	Aug-22	Southwest Park
1401 E Evergreen, Grand Chute	\$715,000	17.59	\$40,648	May-22	
Southpoint (Appleton)	\$130,000	3.25	\$40,000	May-22	Farrell Investments
Southpoint (Appleton)	\$86,400	2.17	\$39,816	Apr-22	Romenesko Developments, Inc.
Southpoint (Appleton)	\$1,339,120	35.23	\$38,011	Dec-21	F Street Development (Phase II)
Southpoint (Appleton)	\$555,180	14.61	\$38,000	Sep-20	F Street Development (Phase I)
2433 Airport Park Dr. Greenville	\$108,000	2.62	\$41,221	Aug-20	Red Top Cab Co.
NEBP (Appleton)	\$57,600	1.44	\$40,000	Jul-20	S&D Masonry
892 Cold Spring Rd. Fox Crossing	\$129,000	3.5	\$36,857	Jan-20	Keeney Properties LLC
Southpoint (Appleton)	\$144,072	3.48	\$41,400	Oct-19	Custom Offsets
Southpoint (Appleton)	\$130,000	3.25	\$40,000	Nov-19	Messenger Property Management
Southpoint (Appleton)	\$168,400	4.21	\$40,000	May-19	New Morning Coffee Roasters
Greenville Dr. Greenville	\$1,109,920	32.3	\$34,362	Jul-19	Burns & McDonnell
Randolph Dr. Kaukauna	\$152,000	4	\$38,000	2019	Velocity Water Works
Evergreen Dr. Little Chute	\$1,100,000	20	\$55,000	Jan-19	Faith Technologies
Southpoint (Appleton)	\$511,000	14.6	\$35,000	Sep-18	Becknell Industrial
7241 Cty Rd. BB Neenah	\$679,000	41.54	\$35,000	Jun-18	
Oak Grove Rd. Prosperity Ctr., Kaukauna	\$186,200	4.90	\$38,000	Sep-17	Lot 6
Oak Grove Rd. Prosperity Ctr., Kaukauna	\$117,800	3.10	\$38,000	Sep-17	Lot 8
Oak Grove Rd. Prosperity Ctr., Kaukauna	\$117,040	3.08	\$38,000	Sep-17	Lot 9
CB & Rockwood Ln., Neenah (Town of)	\$208,623	10.60	\$19,681	Sep-17	Stuff-N-Storage (A-2 General Farming zoning)
Endeavor Dr., Appleton (SPCP)	\$132,000	3.30	\$40,000	Aug-17	Manda Panda Properties
Endeavor Dr., Appleton (SPCP)	\$150,300	3.34	\$45,000	Aug-17	Alco Tech
Integrity Way, Grand Chute	\$83,000	2.72	\$30,503	Jan-17	
Plank Rd. & Eisenhower, Appleton (SPCP)	\$329,400	7.32	\$45,000	Sep-16	Encapsys
Kaukauna Ind. Park	\$79,800	2.10	\$38,000	May-16	NorthStar Coop
Capitol Dr., Appleton (NEBP)	\$75,950	2.17	\$35,000	Mar-16	Romenesko Developments, Inc.
Goodland/Conkey, Appleton (NEBP)	\$100,000	2.69	\$37,175	Dec-15	Quantum Healthcare
Kaukauna Ind. Park	\$228,000	6.00	\$38,000	Jul-15	Polyflex
Capitol Dr., Appleton (NEBP)	\$155,750	4.45	\$35,000	May-15	RP5, LLC
Goodland Dr., Appleton (NEBP)	\$115,200	2.88	\$40,000	Apr-15	Farrell Investments
Lakeland Dr., Appleton (SPCP)	\$58,000	1.37	\$42,336	Sep-13	Flair

<sup>\*</sup>SPCP=Southpoint Commerce Park

Sources:

Seller Contact CoStar WI Dept. of Revenue

<sup>\*\*</sup>NEBP=Northeast Business Park

# **EXHIBIT B**

## INDUSTRIAL LAND ASKING PRICE COMPARISON

**Municipally Owned Land Asking Price Comparison** 

		Regional			
Municipality	Ask Price/Acre	Stormwater	Concrete Streets	Utilities	Incentives
Appleton	\$40,000	Υ	Υ	Υ	N/A
Neenah	\$35,000	Υ	Υ	Υ	TIF/Land grant
Kaukauna	\$34,000 to \$50,000	Υ	Υ	Υ	Redevelopment Authority loans

Privately Owned Land Asking Price Comparison (Over 10 acres, per CoStar listings)

		Largest		
		Contiguous Lot		
Municipality of Private Property	Ask Price/Acre	(In Acres)	Location	Notes
Grand Chute	\$49,500	16.00	McCarthy Rd.	Divisible/Sewer and water at lot line
Little Chute	\$57,143	21.00	4001 Freedom Rd.	Water/Sewer/Gas across road
Grand Chute	\$61,990	31.86	Consolidated Ct.	Usability limited
Fox Crossing	\$48,500	41.54	7241 Cty. Rd. BB	Municipal utilities available

Sources:

Seller Contact CoStar WI Dept. of Revenue

